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Multiply by powers of ten (missing number)

Name:

7.819 x

5.368 x

5.851 x

2.369 x

2.255 %

9.857 x

5.028 x

3.044 x

4.611 x

6.653 x

=781.9

=536.8

=585.1

=236.9

=22.55

= 9857

=502.8

=30.44

= 4611

= 665.3

4.898 x

7.524 x

2.608 x

6.461 %

3.561 x

4.446 x

2.081 x

2.404 x

2.617 %

4.197 x
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Date:

=489.8

=75.24

=26.08

= 646.1

= 3561

— 444.6

= 2081

— 2404

= 2617

= 4197

Score:
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81223

Multiply by powers of ten (missing number)

Name:

7.819 x 100 = 781.9

5.368 x 100 = 536.8

5.851 x 100 = 585.1

2.369 x 100 = 236.9

2.255 x 10 = 22.55

9.857 x 1000 = 9857

5.028 x 100 = 502.8

3.044 x 10 = 30.44

4.611 x 1000 = 4611

6.653 x 100 = 665.3

Date:

4.898 x 100 = 489.8

7.524 x 10 =75.24

2.608 x 10 = 26.08

6.461 x 100 = 646.1

3.561 x 1000 = 3561

4.446 x 100 = 444.6

2.081 x 1000 = 2081

2.404 x 1000 = 2404

2.617 x 1000 = 2617

4.197 x 1000 = 4197
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